
  

65 year old male with hypertension, pre-op EKG for prostate surgery 

#2 



EKG #2
Normal Sinus Rhythm
LVH with Repolarization Abnormality 
Left Atrial Enlargement

LVH

Left Ventricular Hypertrophy
Over Age 40

• SV2 + R V5 =  35 mm 
• R aVL           =  11 mm
• R-I + S-III     =  25 mm

Many Criteria: Romholt & Estes,  Cornell...

Repolarization Abnormality  with 
LVH

Also Call-Stain
• T wave Inversion
• ST Depression
• ST Upward Convexity
• J not more than 5 mm depressed
• Lateral > Inferior > Anterior

Atrial Enlargement
LAE
• 1 mm V1 deep/wide
• 3 mm long P wave (120 ms)
RAE
• 2.5 mm in II 
• 1.5 mm high in V1


